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Question: 1 
   
What happens in the daily scrum? 
 
A. By setting the resizable property of the page to No. 
B. Train the model - Publish the model - Extract data 
C. Team members share their progress, plans, and issues. 
D. It defines the messages that are sent to and from your app 
 

Answer: C     
 

Question: 2 
   
Which Constants you have to set before you can start using Receipt Processing? 
 
A. Xpath 
B. Yes, through a Microflow 
C. Secret_Key, Access_Key, and Encryption_Key 
D. From, To, Subject 
 

Answer: C     
 

Question: 3 
   
What is a good reason to choose to use an Information Entity instead of multiple associations? 
 
A. You want to display additional information about an association. 
B. By creating a data snapshot and adding it to the deployment directory of your app. 
C. [Notifications.Notification_Account='[%CurrentUser%]'] 
D. Document Training Web App 
 

Answer: A     
 

Question: 4 
   
Can you use Invoice model as soon as it is created in Document Training Web? 
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A. Yes 
B. No 
 

Answer: B     
 

Question: 5 
   
What can you use to exit a loop early, instead of finishing the entire list of iterator objects? 
 
A. A continue event 
B. Set a breakpoint condition. 
C. A go-to event 
D. A break event 
 

Answer: D     
 

Question: 6 
   
How many associations can you add between two entities? 
 
A. Many associations of various multiplicity. 
B. The property has been overwritten. 
C. Two associations, one from each entity. 
D. By adding a separate module. 
 

Answer: A     
 

Question: 7 
   
How to make the popup window always visible? 
 
A. Remove the outer layer grid. 
B. Exclude it from the project. 
C. Your application to test with. 
D. Add a button to "glue" them. 
 

Answer: A     
 

Question: 8 
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What qualitative technique focuses on how users group different items? 
 
A. Web Analytics 
B. Design Principles 
C. Eye Tracking Testing 
D. Card Sorting 
 

Answer: D     
 

Question: 9 
   
Which one is the correct option for implementing translation feature ? 
 
A. No, the model has to be trained and published first. 
B. In the Conditional visibility property of the container. 
C. To configure the Invoice Processing activity with the app 
D. Need to create translator object from domain model entity 
 

Answer: D     
 

Question: 10 
   
Which function is used to merge a complete branch into the mainline and is only available on the main 
line? 
 
A. Advanced merge 
B. Manually 
C. External entry 
D. Merge feature branch 
 

Answer: D     
 

Visit us at: https://www.testsexpert.com/intermediate-developer



 

 

 

 
For More Information – Visit link below: 

https://www.testsexpert.com/ 
 

16$ Discount Coupon: 9M2GK4NW 
 

Features: 
 

Money Back Guarantee…………..……....… 

 

100% Course Coverage……………………… 

 

90 Days Free Updates……………………… 

 

Instant Email Delivery after Order……………… 
 

 

Visit us at: https://www.testsexpert.com/intermediate-developer

https://www.testsexpert.com/�

